
Exerzcise 12 (B)_ 
o)A wirze of lenath 2m 3bcm is nedwat 

alnbthez wiré of length Zm 95cm ulha 
illbe he totol_leoth o he wize 2 

Aize ot lehoth- 2a35 cm 

Anatherc wize ot length= a95 cn 

tolenoth_otLhe wirzeE 

a5 
35 
30 

30cn wil be the tokallpeh the 
WICe 



Date 

Exeqcise- 12 c) Page C 

BWead Droblems

gRaesh'shouSeis 10km 250nM t2om s.chool
ond Vinods house is 3km_ 376a zomschag
hose house is a yn2aMer toHae schao 
ond by how mdch 2 

AnS.Roeshs haUSe teOm school10km 250 pm 

Vinads housefzon schaol 3kn 875 

/hosehause iS neareR to the S.chool
by houL _MUch5 

KIm M 
14640
23 

875 
345 

3 

inod's hous.eis neazez to the Scha0l 
alnd by 6kn 345m. 
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